AUXE - -

44

RIFE / Product Number

Hfi%

H dimension

Wtk

W dimension

D~fi%

D dimension

R

dJLRE
Rubber Feet

W79 =HILT—%3 / Technical Datall
#{4TRJLY / Recommended torque : 0.3N*m ~ 0.6N*m

EX (P /H)
Screw (P or H)

B itHx

Color Type

EHE A4E4% / Original trapezoid head screw specification

[P] 75 / Phillips

73A / Hexagon—socket

£ 1+ ¥% / Color Type

£E05 / Code a—+—70w% / Corner block {BI#R / Frame H/\— / Top cover | T//3— / Bottom cover
S S < JLsN— / Silver < JLsN— / Silver < )LsS— / Silver < JLsN— / Silver
S B 75v% / Black 2 )LsS— / Silver < )LsN— / Silver 2 )Li— / Silver

#ERNZA / Components

No. 2 / Part name #= / Pcs #ME / Material & - RMEMIE / Color:Finish
i a—F—JAavy 4 FILEH A Fx X~ ADC12 DIVR—, Ty B (REELE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) B4R 4 T IV H# A6063S-T5 LN —- R EE (NEREEALIE)
Frame Extruded aluminium A6063S-T5 Silver-Painted (Unfinished inside)
. HN— : 7 LR A1100P VILN—FE (ZEERNE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
. THN— 1 7 LR A1100P DIIbN— RE (EEEELE)
Bottom cover Aluminium A1100P Silver-Painted (Conductive inside)
5 JLZ 4 AT L TI599
Rubber feet Rubber Black
6 EMCL—ILRH R vk g BB (UL94V-0) A2y TL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
; HR{FE R (M3 x 8) - % =L AvE
Screw (Flat head M3 — 8) Steel Nickel plated
g H{TE R (M3 x 5) " % =L AvE
Screw (Trapezoid head M3 - 5) Steel Nickel plated
e
=)
8 3

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title

EMCY—ILRRYHI R

EMC SHIELDED ALUMINIUM CONTROL BOX

o]

7 5%/ Approved

iR ES

t&X]/Checked

#I[X/Created

wF

FIE /Product number

AUXE44-43-16RO-010

RIE/Scale

R— /Page

{ERL B /Date

2023/12/05

1 /76

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




153

A-A(1:45)

22

D view

B view

E view

430 =0.8

10
o
H
o
©
A view
c
H04
~
[ap)

B-B(1:45)

E— 3

423

C view F view

C-C(1:45)

,.2?

lu@

113

&9

G

383

BRASHEIHTFERIE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fmf/Title
EMCY—ILRRYHI R
EMC SHIELDED ALUMINIUM CONTROL BOX

o]

7 5%/ Approved

iR

#%[X|/Checked #I[X/Created

x wF

FIE /Product number

AUXE44-43-16RO-010

RE/Scale
1:45

{ER B /Date 2023/12/05

R— /Page

2 /6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A %% / A Frame

380

225

43

58.7

14
ST

B

|

R / Front side

B {l#x / B Frame

2-M3RH 3R
2-M3 Countersunk
¥ RXTEEHFEFE / Same on the other side.

77

&l
O

XM / Front side

3.3

3.3

Z M / Back side

% / Back side

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
GRS

Frame

o]

7 &%/ Approved 1% [®/Checked [ /Created 4 F/Product number JRFE/Scale
1:3
iR £ wF ~R—/Page
H44 - W430 {ER B /Date 2023/12/05 3/°6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

110 225

[ap)
~ || D
(ap) [ap)
[ap)
25 ©
<
5 2-M3F YS9 5
2-M3 Countersunk
X RxIEH Rk / Same on the other side. N
R / Front side Z M / Back side
D {8I#% / D Frame
M@ / Front side ZEM / Back side
fnd/Title
TAKACHI] #RXEitahFERTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 B/ Approved t&X]/Checked #1[X]/Created FIFE /Product number RE/Scale
1:2
iR £ wF ~R—/Page
H44 - D160 YERL B /Date 2023/12/05 4 / 6
AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

1494

130

3R / Front side

4194

400

s
\

AH3hT% / Max dim. 383 £ 0.5

A% / Max dim. 113 £ 0.5

6-@4.5

fREE—HAY

Surface protective film side

2 / Back side

md/Title
BRASHINFEHIE H18— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
778/ Approved 1%/ Checked #U[X]/Created 4 F/Product number RE/Scale
1:4
PR =3 BF R—/Page
W430 - D160 {ER B /Date 2023/12/13 5 / 6

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

1494

130

3R / Front side

4194

400

s
\

AH3hT% / Max dim. 383 £ 0.5

A% / Max dim. 113 £ 0.5

6-@4.5

fREE—HAY

Surface protective film side

2 / Back side

BRSUINFERT %

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
Thi—

Bottom cover

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:4
PR =3 BF R—/Page
W430 - D160 {ERL B /Date 2023/12/13 6 / 6

AREDEFEIBRREHINTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






